
Карточка 1
 
                                        Цена             Количество             Стоимость?


1-й покупатель         одинаковая              5кг                   ? на 56 руб. больше
2-й покупатель         одинаковая              3кг                               ?
Составить задачу по краткой записи и реши её.
 
Карточка 2
 
                                       Цена              Количество            Стоимость?

1-й покупатель         одинаковая              5кг                   ? на 56 руб. больше
2-й покупатель         одинаковая              3кг                              ?
Решение:
1) 5 – 3  =…  (кг)…
2)    56: …= … (руб.)…
          3)
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